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I. Rupnnt /0.7 gp. / hwpg 580 1 11.550 np. 8.662,5np.
2 Cnpw Juwuyws /1.4 gp. / hupg 580 1 23.100 np. 17.325np.
3, Cnpw Juwudwé/ 1.2 gp. / hwpg 580 1 19.800 np. 14.850 np.
4. Ruwpnnti / 0.1 gp. / hwpg 580 1 1.650 np. 1.237,5 np.
5 Ulywtigon /1.1 gp.. / hwpg 580 1 qnyg 18.150 np. 13.612,5 np.
6. Ubwtigon / 0.7 gp. / hwpg 580 1 qnyg 11.550 np. 8.662,5 np.
t foo Ulwtigon /1.1 qp. / hwpg 580 1 qnyq 18.150 np. 13.612,5np.
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9 tuws /1 gp. / hwpg 500 1 14.200 np. 10.650 np.

10. Uuwnpwtp / 3.1 gp. / hwpg 580 1 51.150 np. 38.362,5 np.
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12 Cnpw /23.8 qn. / hupg 560 1 392.700 np. 294.525 np.
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